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Menoufia University May Exam 2013
Faculty of Commerce First Level
The English Section Course: Terminology
Part 1 : Accounting
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Menoufia University

Faculty of Commerce

Department of Economics

English Section

First year Date: 11/6/2013
The 2™ Term Final Exam Course: Macroeconomics Time: 2 hours

Question One: Define the following concepts and write short notes:
Tools of the monetary policy.

GDP and GNP.

The multiplier.

Money functions.

Nominal and real Deficits and surpluses.

Question Two: Choose the correct answer and comment out your choice:
1- Autonomous expenditures are defined as expenditures that :

a)- occur in equilibrium.

b) - occur when income is zero.

c)- change as income changes.

2- The short-term interest rate is determined in the :
a)- loanable funds market.

b)- stock market.

c)- money market.

3- The central bank is a financial institution that :

a)- has the sole right to accept deposits and make loans.
b)- has the sole right to issue currency.

c)- sets borrowing and lending in a country.

4- The short-run aggregate supply curve will shift up if :
a)- productivity increases. :

b)- productivity is increasing faster than wages.

c)- wages are increasing faster than productivity.

5- Fiscal policy would be more effective if :

a)- potential income was unknown.

b)- the government could change taxes and expenditures rapidly.
c)- the size of the government debt didn't matter.



Question Three: Answer the following questions using graphs if possible:

1- What are the functions of commercial banks? Explain how money is created
through the actions of the banks.

2- Using the AS/AD model explain how government fiscal policy can get an
economy out of Recessionary gap and Inflationary gap.

With my best wishes,
Prof.Dr. Sakr Ahmed Sakr

—

P




Menofya University Risk Management Final Term Exam

Faculty of commerce English Sec. 1* year 14 \ 6\ 2013 (2 hrs.)

Part one ( 6 degrees)
" Take Care Co. " asked you to compute the cost of a risk using all

available methods to manage any risk ( Mix ).
The company gave you all data you need ,,, . Find the cost .

Part Two (9 degrees )

1) Graph a Risk Managemenf Matrix and explain "Avoidance" .

2 ) Explain " Peril " and "' Hazard " .

3) " There is no single definition of Risk "' Why ?

4 ) Distinguish beMeen " Objective " & " Subjective" Probability .
5 ) When we must retain the Risk ?

6 ) Compare between " Objective Risk " & " Subjective Risk "

n/



Menofiya University Final Exam
Faculty of Commerce 1" Year

The English Section Time: Two Hour
Course: Quantitative Analysis Date: 4/6/2013

Answer the following questions:
First question: (5 marks)

1- The following sample observations were randomly selected:
X 4 2 5 6 3
Y: e erlS 8 21 24
- a) Determine the regression equation.

b) Determine the coefficient of determination.
2- Refer to the following table:

" Second First Event

: Al AZ A3
B, 10 5 15
B, 5 10 3

T

a) What is the probability of selecting A or B,?
b) Determine P(Bj/A)).

Second question: (5 marks)

1- What is the advantages of mathematical modeling?

2- Solve the followmg problem using the simplex method:
Maximize profit = 10X, + 9X, objective function

Subject to: |

5X;+4X, <120  (painting hours constraint)
2X;+4X,<60 (carpentry hours constraint)
X,,X20 (non negativity constraint)

Third question: (5 marks)
1- What is the requirements of linear programming problem?
2- A firm has three factories, 1, 2, 3 , which ship their output to three warehouses. A , B

and C. The capacities of the factories for one month, the requirements of the ™
~ warehouses for one month, and the costs of shipping one unit from each factory to each

warehouse in dollars are given below:

| To Warehouse Warehouse Warehouse | Factory capacity
From A B C (units)

Factory 1 $5 $4 $3 50
Factory 2 $8 $4 $3 150
Factory 3 $9 $7 $5 150

Warehouse

requirement 150 100 100 350

(units)

a) Find an initial solution to this transportation problem using the Northwest-Corner.
What is total cost?

b) Test the unused cells using the stepping-stone method find the optimal solution.
Compare the total cost.

Cand T nelr



Minoufia University
Faculty of Commerce
The English Section
Final Exam (May 2013)
Course: Marketing
Time: 2 Hours

Answer the following questions:
First question: (5 marks) Explain why do you "Agree"” or "Disagree" with the
following statements:

1- When NOKIA divides its markets into units of nations, regions, and cities, the
company is using demographic segmentation.

2- Unsought products are products and services that the customer usually buys,
frequently, immediately, and with minimum of comparison and buying effort.

3- Mark up pricing is popular because it simplifies pricing by basing the price on
the buyers' perceptions of value.

4- A company's channel decisions directly affect every other marketing decision.

5- The competitive parity method wrongly views sales as the cause of promotion
rather than the results.

Second question: (2 marks) Put the right marketing concept in front of its
definition:

2- ......: Anything that can be offered to a market for attention, acquisition, use or
consumption that might satisfy a want or need.

3- ......: A channel containing one or more intermediary levels.

4- ......:Is any paid form of non-personal presentation and promotion of ideas, goods

or services by an identified sponsor.

Third question (4 marks): Marketing Applications:

A- As a business consultant, what type of segmentation would you suggest to
marketers of the following products:
1- Luxury cars
2- Insurance services
, 3- Travel services
4- 1phone 5
5- Sports wears

B- Identify the type of consumer products illustrated in the following situations:

1- A consumer rushes to the nearest retail store to buy a pepsi can.

2- A lady is planning to buy a new washing machine, which exists in different
designs, prices, and quality levels.

3- A business man is visiting an exclusive dealer to buy a ROLEX watch.
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A sales person is trying to convince a university lecturer to buy a scientific
encyclopedia.

Fourth question: (4 marks): Marketing Issues:

A- Identify the pricing strategy in the following situations:

) 55
P

A company that charges 10% over total cost in order to identify the right price.
A retail store sets prices as low as possible in order to become the market
leader. ;

Metro retail store eharges 20% more than competitor for its products, based on
superior quality and service.

A company that uses research in order to identify unfilled needs and wants,
and create a product at a price consumers are willing to pay.

Identify the type of distribution channel (direct- indirect) and the right
distribution strategy (intensive- selective- exclusive) for each of the following
products. Explain.

Dairy products

Banking services

Mobile products

Mercedes cars

Best Wishes
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Menoufia University
Faculty of Commerce

Course Title: Organizational Behavior Final Exam 2013
Time: Two Hours
Instructor: Dr. Shawky M. Elsubbaugh Marks: 15

Instructions: Answer all Questions

Part one: Define the following terms: (5 Marks)

1. Organizational socialization

2. Organizational culture

3. Self efficacy and self-monitoring

4. Satisfaction-progression process and frustration-regression process
5. Equity sensitivity

Part Two: T or F and M. C. Q (3 Marks)

1. A person will experience negative inequity when his outcome to input ratio is
greater than that of a relevant co-worker
2. Dominating style of handling conflict is appropriate for complex issues
happened by misunderstanding
3. Transactional leadership focuses on interpersonal interactions between
managers and employees |
4. Improving motivators increase job satisfaction, but it does not decrease
job dissatisfaction |
---Is a person’s self perception as physical, social and spiritual being.
A) Self-efficacy i
B) Self-esteem
C) Self-concept
D) Self-management
E) None
6. ERG theory investigated three needs. They are:
A) Safety, love, and esteem
B) Growth, existence, and relatedness
C) Power, persuasion, and persistence
D) Affiliation, love, and relatedness
E) None

Part Three: (7 Marks)

1. Explain the five conflict-handling styles and how can managers build cross-
cultural relationship?

2. Identify the difference between content and process theories of motivation and
explain one of each group?

3. Explain the three phases model of organizational socialization?

4. Identify managerial and organizational implications of expectancy theory?

Best Wishes
Dr.shawky|
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Faculty Of Commerce — Menoufia University
Commercial Terminoiogy : Firnal Exam First Year

PART ONE
ACCOUNTING TERMINOLOGY

ANSWER THE FOLLOWING QUESTIONS IN FULL :-

Q*1 State the main merits of the Partnership form of business
organization .
Q* 2 What accounting deals with ?
Q*3 What is the difference in the Purposes of :

(a) The balance sheet , and

(b) The income statement ?
Q*4 From the following assets , Liability , and net worth of
alamal co . on December 31, 2012, Prepare a balance sheet in

good form :

1 Cash T BB «.ooovminonnorsinons sonmsississsivsas $ 100,000

2 AcCOnnts Reoivable ... a5 casivieqsesiesssemes 140,000

3 IROIOTY ... .00 00 smsmravepasasmavanme sy ranats 160,000
4 BEIRY b Srvnses vnnmsmmssansassosam s kb 5 200,000

5-DUHIEREES. . o ovonimsnnomnmmmmnssenmynsins o8 Foniisdig 100,000

G ACCRIRERAVADIC. . s vovns er ermsas s ssn R G sa e 100,000
T TIBERE.. .o.creoos siassbnmnsstonvissmessssvammmns .. 250,000
BLADHA] SIBCH . v sivesstinimmapmmsmasmammemanssramens 200,000

ONELINCOME .. coviiiiiinniiisimasssrsonnesennsinsnensissais b IGO0




Menofiya University Terminology
Faculty of Commerce - Final Term Exam
English Section. 1*' year 1816\ 2012 (2 Hrs. for Part I + Part II)

Part II Insurance

Q. 1) 1.5 degree
What is Risk ?

Q. 2) Find the meaning in English ( 10* 0.2 = 2 degrees )

2{1 ) Accident insurance 2{2) Adjuster ' 2|3 ) Annuity
2|4 ) Basic limit 2|5) Cancellation 2|6 ) Bond

2|7 ) Ceding Company 2/8) Degree of Risk 2|9 ) Exclusion

2/10) Field manager

Q.3)( 20*0.2 = 4 degrees )

Aplaiy) Aalh ) Translate to Arabic
o jluadd) g pid (1 1) Current account
@ldg puaa (2 2) C.IF.
- 3) Offer
Jlaxioay) Aoyl DI (4 4) Civil Commotion
| a3 (5 5) Third Party
Ll e S5 (6 6) Yearly
(Al 3 (7 ' 7) General Condition
. Aauadlgdi(8 ' 8) Warranty
Sy (8 phlia (9 . 9) Contribution
Agitalyf 488 (10 : 10) Customs Tariff





